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Notes:
1. Question no. 1 is compulsory.
2. Solve any four out of remaining six questions.
3. Assume suitable data if required.

Q.1
{(a) How can system capacity can be mcreased in cellular system. 3
(b) Explain GSM services and features. (3)
(c) Explain power control sub channel in 1S-95 CDMA svsteni. (3)
(d) Effect of Doppler spread on fast fading and slow fading. (3)
Q2
(a) Discuss forward W-CDMA chamnels. ‘ (10%
(b} Discuss hand-off procedure in CDPD with neat diagram. (10}
Q3 ‘ PrE
(2) Explam with neat diagram [S-93 forward traffic channel. = (10)
(b) Explain the Knife-edge diffraction model. %3 (10)
Q4 : 8
(2) Explain handoff and power control in 3G system. O B eT))
(b) Give the 3G CDMA evolutionary path. Pk (3)
(¢) Compare W-CDMA & CDMA2000. £ (3)
Q3

(a) Explain factors affecting the small scale fqdj.i.rg'.' Consider a transmitter which radiates
Isignal of camer frequency 1800 MHz. For a x:féhicle moving with 80 kny/ b, calculate the
received carmer frequency : ‘ (10)
(1) If vehicle moving is moving directly towards the transmitter.
(2) If vehicle moving in a di:gqtimi which 1s 70 degree to the direction of amval of the
transmitted signal.

(b) Explain RAKE receive i;;ﬁzciétaﬁ_ ‘ (3)

(¢) Explain umbrella ce{},li_{a‘p;_)&roach‘ 3
Q.6 «

(a) Derive relatiois between svstem capacity and cluster size. : ‘ ' (10)

{b) Explam GFKS architecture with neat diagram (10)
Q.7 Short noies (Any two) (20)

(1) Compare FDMA, TDMA, CDMA, SDMA.
(2} Authentication in GSM.
_7-(3) Signal processing in GSM.
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